Partner opens 1 of a minor: 14 or 14

Partner opens 1 ¢ or 1 &
He has 3+ ¢ or 3+ & and 12 to 21 points

Responder: (YOU) bids:

You have 4 cards in
one of the Majors:

You do not have 4
cards in a major:

0-5 pts Weak: pass

6 + pts
bid1eo0r1y
e You need to have 4+ cards in
a0rvs
e If you have 4 cards in both

sandwv,...... bid the hearts
first, then the spades

0-5 pts WEAK: pass

6-9 pts MINIMUM:
bid 1 No Trump
raise partners suit to 2

10-11-12 pts :
bid 2 No Trump

raise your partners suit
to 3

13+ MAXIMUM:
bid 3 No Trump
bid a new suit




